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Practice Paper B
Time: 1 hour 15 minutes

You must have: 


Ruler graduated in centimetres and millimetres, protractor, compasses,

pen, HB pencil, eraser. Tracing paper may be used.
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· Use black ink or ball-point pen. 

· Answer all questions.

· Answer the questions in the spaces provided 


– there may be more space than you need. 

· Calculators may be used.
· If your calculator does not have a (  button, take the value of (  to be 3.142 unless the question instructs otherwise.
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· The total mark for this paper is 60.

· The marks for each question are shown in brackets 
· use this as a guide as to how much time to spend on each question.

· Questions labelled with an asterisk (*) are ones where the quality of your written communication will be assessed 
· you should take particular care on these questions with your spelling, punctuation and grammar, as well as the clarity of expression.
[image: image17.wmf]Advice

· Read each question carefully before you start to answer it. 

· Keep an eye on the time.

· Try to answer every question.

· Check your answers if you have time at the end.

This publication may be reproduced only in accordance with

Edexcel Limited copyright policy.

©2010 Edexcel Limited.

GCSE Mathematics 2MB01
Formulae: Higher Tier

You must not write on this formulae page.

Anything you write on this formulae page will gain NO credit.
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Volume of prism = area of cross section × length     

Volume of sphere 
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πr3 



Volume of cone πr2h

Surface area of sphere = 4πr2 


Curved surface area of cone = πrl
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In any triangle ABC 




The Quadratic Equation








The solutions of ax2+ bx + c = 0








where a ≠ 0, are given by








x = 
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Sine Rule  
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Cosine Rule   a2 = b2+ c2– 2bc cos A

Area of triangle = 
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Answer ALL questions.

Write your answers in the spaces provided.

You must write down all stages in your working.
1.
Here is part of a train timetable for six trains from Birmingham to London.

	Train
	A
	B
	C
	D
	E
	F

	Birmingham
	06 35
	07 00
	07 15
	07 30
	07 45
	08 00

	London
	08 09
	08 39
	08 48
	09 04
	09 59
	09 39



(a)
Which train takes more than 2 hours to go from Birmingham to London?

………………..

(1)


(b)
Work out the number of minutes taken by Train D to go from Birmingham to London.
………….. minutes

(2)


Paula has to go to a meeting in London.


She will catch one of the six trains from Birmingham.


She needs to arrive in London before 09 00


(c)
Work out the latest train she can catch.

………………

(1)

(Total for Question 1 is 4 marks)


2.
Write 

 as a fraction in its simplest form.

………………….

(Total for Question 2 is 2 marks)



 3.
Here is a conversion graph that can be used to change between kilograms and pounds.

22


20


18


pounds


16


14


12


10

  8


  6


  4


  2

0
     1
    2
   3
  4          5         6         7          8         9         10






kilograms 

(a)
  Use the graph to change 22 pounds to kilograms.

……………… kg

(1)

(b) 
Use the graph to change 2.5 kilograms to pounds.

..………. pounds

(1)
Fabio weighs 110 pounds.

(c) 
Change 110 pounds to kilograms.

……………… kg

(2)

(Total for Question 3 is 4 marks)

4.
There are some coloured beads in a bag.
The beads are green, red, yellow or blue.

The table shows each of the probabilities that a bead is chosen at random will be green, red or blue.

	Colour
	Green
	Red
	Yellow
	Blue

	Probability
	0.15
	0.35
	
	0.20


(a) Work out the probability that a bead chosen at random will be yellow.

……………….

(2)

(b)
Work out the probability that a bead chosen at random will be red or green.

………………...

(2)

There are 400 beads in the bag.

(c)
Work out an estimate for the number of blue beads.

…………………
(2)

(Total for Question 4 is 6 marks)


*5.
Some students in a class weighed themselves.


Here are their results.



Boys’ weights

70
65
45
52
63
72
63



Girls’ weights

65
45
47
61
44
67
55
56
63


Compare fully the weights of these students.

(Total for Question 5 is 6 marks)


6.

The table shows some information about the lengths, in minutes, of 40 films.

	Time, T, in minutes
	Frequency
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Calculate an estimate for the mean length of a film.

......................................................  minutes

(Total for Question 6 is 4 marks)

7.
Here is a picture of a some children getting onto a double-decker bus.




(a)
Estimate the height of the children.

……………… m

(1)


(b)
Estimate the height of the double-decker bus.

…………………………..

(2)

(Total for Question 7 is 3 marks)


8.
Trevor measures the length of his maths book as 27 cm correct to the nearest cm.

(a) Write down the greatest length this could be.

………….…………. 

(1)

(b)
Write down the least length this could be.

……………………..
(1)
(Total for Question 8 is 2 marks)

9.
Jodi bought a car for £12 000


She bought the car 3 years ago.


The car depreciated at a rate of 10% each year.


(a)
How much is the car worth now?

……………….

(3)

Mia also bought a car for £12 000


Her car also depreciated at 10% a year.

(b) 
After how many years will her car be worth £6000

…………….. years
(3)

(Total for Question 9 is 6 marks)


10.

Mary recorded the heights (h) in cm, of the girls in her class.
She put the heights in order.

	132
	144
	150
	152
	160
	162
	162
	167

	167
	170
	172
	177
	181
	182
	182
	


(a) Calculate

(i) the lower quartile,

…………… cm

(ii) the upper quartile.

…………….. cm

(2)

(b) On the grid, draw a box plot for this data.














h
(3)
Here is a box plot showing some information about the heights of the boys in Mary’s class.



Compare the distribution of the heights of the boys and the girls in Mary’s class.




(2)
(Total for Question 10 is 7 marks)

11.
The incomplete table and histogram give some information about the ages of the people who live in a village.


(a) Use the information in the histogram to complete the frequency table below.

	Age (x) in years
	Frequency

	  0 < x ( 10
	160

	10 < x ( 25
	

	25 < x ( 30
	

	30 < x ( 40
	100

	40 < x ( 70
	120


(2)
(b) Complete the histogram.

(2)
(Total for Question 11 is 4 marks)

12.

Here are four cumulative frequency diagrams.




A






B




C





     D


Here are four box plots.



P


Q


R


S

For each box plot write down the letter of the 

P and ……….
appropriate cumulative frequency diagram.









Q and ……….









R and ……….









S and ……….

(Total for Question 12 is 2 marks)

13.

Sally has a fair 4-sided spinner numbered 1, 3, 5 and 7

 


and a fair 6-sided die.




1
                  6








      7
    3


  








         5
  

    3        5

He spins the spinner once and rolls the die once.

To get the score he adds the numbers together.

(a)
Work out the probability that the score will be 3


....................

(2)
(b)
Work out the probability the score will be less than 5
…………..
(3)

(Total for Question 13 is 5 marks)

14.

A bag contains 3 black beads, 5 red beads and 2 green beads. 
Gianna takes a bead at random from the bag, records its colour and replaces it.

She does this two more times.


Work out the probability that, of the three beads Gianna takes, exactly two are the same colour.

………………..
(Total for Question 14 is 5 marks)
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